Operations with Hexadecimal Numbers (G)

10FACyg

— 6B62¢¢

DA5Dyg

X 2516

255B4

+ 41174

AA16)2BEA94 g

8D5B1g

X 1By

Calculate each answer.

7A515
+ 894F

91,6)70A20B 4

X 1Eq6

3A15)26D094 4

8616)3BIF7014

950B6
X 596

EA6Cy4

X 8316

BCE14

12CDF 5

— BCD34¢

46C114

X 3416

1B3E;g

X 2Ci6

9814)433E0 g

C0945
X 4716

34216

X bEig

35F844
+ 8D346

1752By4

— 8CEByg
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Operations with Hexadecimal Numbers (G) Answers

10FACyg

— 6B62¢¢

A4AA

DA5Dyg

X 2516

1F8F 7146

255B4

+ 41174

667216

42226

A1) 2BEA94

8D5B1g

X 1By

EE89915

Calculate each answer.

TAbB144

+ 894F 4

103A015

C6DB1;

9116)70A20B14

AB5245

3A15)26D094 4

71E816

8616)3BIF7014

950B6

X 596

33D0D3+¢

EA6Cy4

X 8316

TTF544 4

BCE14

X 1Eq6

16225E

12CDF 5

— BCD34¢

700C;6

46C114

X 3416

E5F34:4

1B3E;g

X 2Ci6

4AFAS 4

7144
9814)433E0; 4

C0945
X 4716

3567F 5

342A6
X bEig

13276C

35F844
+ 8D346
3ECByg

1752B1
— 8CEByg

E84044
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